A £ 0l & AF & S

UBESIH LAt 2 A

Al A

A LRI Z L
HE: UXj2lorE O
e NS 2 sz HE (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
VRSN 5,564,093 4,374,279 1,179,814
= 568,872
[ 939,241
Il 6,545
CH 850,000
Al 1,275,020
- 1,914,415
2t TRy 4,455,746 2,547,917 1,907,829
= 411,859
[ 939,241
CH 850,000
Al 908,998
- 1,345,648
UESRM Y S3LAe FE 2,872,888 2,273,317 599,571
= 192,330
[ 939,241
Al 755,328
- 985,989
NS ZAIHFLALS 5,400 5,400
203 gR=2| 5,400 5,400
03 A= PR F&IH| 5,400 5,400
O3 Netd gexd 6,000,000 00k 5,400
NSgdngdst satnzs 29 2,400 0 2,400
201 et 3| 1,500 1,500
01 AtR2tc|Hl 1,500 1,500
OXNSZN s SElHM=R Let2d 1,500
203 HR=H] 900 900
03 A=A R =AH] 900 900
OXNSBNEds SEUHR=R 2T 900
2iel 22 X 900 900
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Oogxiel K& ge=d
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2l 5 & HRXE 12,900 10,490 2,410
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01 AtR2t2l] 12,900 10,490 2,410
OXNSLTIeISAIN S EItEA MA 3,000
OS4dstn T#4 d2gM T2, 9,900
NS SH LRtel A (HEALY) 494,266 458,490 35,776
Al 370,700
- 123,566
101 212A4H| 480,136 444,360 36,776
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e NS 2 sz HE (Gt H2)
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T 120,034
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201 Zet=3h] 1,000 1,000 0
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OXNSSSH LA 24 1,000
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206 M=l 13,130 13,130 0
Al 9,848
- 3,282

01 MZH| 13,130 13,130 0
OXEESH LAelAeg 20U 13,130
Al 9,848
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Al 199,618
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- 45,668
O3S22 A (XHAI) 300,000

201 er23| 4,000 3,000 1,000
Al 1,649
- 2,351

01 At 2|l 4,000 3,000 1,000
OZ322AY 2HI(EX) 3,000
Al 1,649
- 1,351
O3322 A 2HI(XHA) 1,000
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el 39gs X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Y 23 W2 XA 20,000 25,000 25,000
301 LEtE N = 20,000 10,000 10,000
11 dALEEIXIE S 20,000 10,000 10,000
OFH S& dHd &34l N&
100,000 *200&H 20,000
&3 HRLUIEl XIZ A 10,000 20,000 10,000
201 et 3| 10,000 20,000 10,000
01 At 2|l 10,000 20,000 10,000
Osd 34d 8+8 51 29 10,000
=8 Y HAHC0IE ZIZ2XHE 850,000 0 850,000
CH 850,000
307 @20l & 600,000 0 600,000
CH 600,000
02 2B YA E X 600,000 0 600,000
O=& &4 2Z32/0018 XA 150,000
CH 150,000
OFU0| 2= HAE EdiE 200,000
CH 200,000
OFYE UHERD 2H3E it A8 EE 200,000
A8 Y 29 100,000
CH 100,000
“ME0lE 39 EdE20Y 29
20,000,000 =54 100,000
CH 100,000
O&d NE 32 HAE 2K 2 50,000
CH 50,000
401 Al HIZ S OHbI 250,000 0 250,000
CH 250,000
01 Al&H| 250,000 0 250,000
OFYE NHE 32t A8 22X &4 250,000
CH 250,000
Aok s 152,440 756,151 803,711
Al 82,276
- 70,164
ANSEH 2dzt 152,440 756,151 AB03,711
Al 82,276
- 70,164
Jlgel ol & JIgXE =& 1,540 1,540
201 =3 1,000 1,000
01 At22t2lt] 1,000 1,000
OSAIILHS 82 S 1,000
203 HR=H] 540 540
03 A=A PR A 540 540
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M LXtelZ Mzt
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el IIQ%EI %“gﬂ (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OCUIXIE AOILIXI &R
80,0002 123 960
203 2=l 500 900 2400
03 AR Z=Z A REAIY| 500 900 400
ONENF L AABHE A2ET 500
HEAZE AEEUS A (HEALY) 79,688 95,348 15,660
Al 66,406
- 13,282
401 Al HIZL S 0HYI 79,688 95,348 15,660
Al 66,406
T 13,282
01 Al&H| 79,688 95,348 15,660
OHSAIE A& Ua Ar (X&) 79,688
Al 66,406
- 13,282
HSAME A2 SEIHLHAISE 18,094 61,720 N\43,626
Al 10,857
- 7,237
307 212+01& 18,094 51,720 N33,626
Al 10,857
- 7,237
02 B A HE L 18,094 51,720 N\33,626
OXSAIE BISABIA XIRAAS 18,094
Al 10,857
- 7,237
HEAE SHSHI 10,026 6,300 3,726
Al 5,013
- 5,013
307 @120l & 10,026 6,300 3,726
Al 5,013
- 5,013
02 LB HAHEE 10,026 6,300 3,726
OHSEAE S 10,026
Al 5,013
- 5,013
I 22l & HEgaN & 100,250 99,842 408
= 49,075
Jl 2,100
Al 22,850
- 26,225
IR etd 2 B=0HA 98,150 65,000 33,150
= 49,075
Al 22,850




2A:

2 Atel Z Xl ot

B 4R 2ol L HBEAN =
2l OIHA 2t 2 S (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- 26,225
FEHES XIS KA 91,400 59,000 32,400
= 45,700
Al 22,850
- 22,850
401 AlZHIZ S 0HbI 91,400 59,000 32,400
= 45,700
Al 22,850
T 22,850
01 Al&H| 91,400 59,000 32,400
Ot IAAHIE LED = wHl 91,400
= 45,700
Al 22,850
- 22,850
LPG ALt AIEIHA 6,750 6,000 750
= 3,375
- 3.375
403 MR HHMSAH=01H 6.750 6.000 750
= 3,375
- 3,375
02 SISO St =2 A 2 E A I 6,750 6,000 750
OLPG AFEIHF AIEIHA 6,750
= 3,375
- 3,375
LEAFHIS XA 2,100 3,400 21,300
Jl 2,100
LEAFHIA XML O12XEAZ) 2,100 3,400 A 1,300
Il 2,100
201 er23 | 2,100 1,800 300
Jl 2,100
02 s3=gHl 2,100 0 2,100
OHELTSHM=TME 9 F0 SAT
e=Jull 2,100
Jl 2,100
s MY |54 & 713,601 837,080 A123,479
= 107,938
Jl 4,445
Al 260,896
- 340,322
sgsd N2 A 503,183 510,726 NT,543
= 79,688
Il 4,445
Al 177,992
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o=
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SA - BE - 9(3H) - KA - BES Ol &t G o B2
T 241,058
SIIEHIE X2 (HEA) 53,146 84,250 231,104
Al 14,381
T 38,765
301 LEBNEF 53,146 84,250 A31,104
Al 14,381
- 38,765
14 J|Et24 S 53,146 84,250 231,104
FI1EtlE X 53,146
Al 14,381
- 38,765
DI 2 22X X 10,000 10,000 0
Al 5,000
T 5,000
301 LEBEF 10,000 10,000 0
Al 5,000
- 5,000
14 JIEt2 a3 10,000 10,000 0
OXZIIMUE2 22X K& 10,000
Al 5,000
- 5,000
el & (s2IIBHEHI (M EtA) 72,000 90,000 18,000
Al 36,000
T 36,000
403 XX MS =01 72,000 90,000 218,000
Al 36,000
T 36,000
02 SIS0 e A=2E 2AE AL I 72,000 90,000 A 18,000
O=sgoIerEI(HE) 72,000
Al 36,000
- 36,000
sS4 2435 14,500 14,500
201 22 10,600 10,600
01 AFS2t2ltl 7,600 7,600
OsgAY 222 M 400
sXo Bz xtE Xz
600,000 122 7,200
02 23244l 3,000 3,000 0
OsXel 2dz2e| & KXdl S 3,000
202 04t 3,360 3,360
01 2LHOLI 3,360 3,360
OsAEHRE3 TAGH
10,0002 4B+ 7L+ 128 3,360
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AE20 1B 2ARHIL WM A 10,000 10,000 0
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= 53,760
Al 21,504
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OFAN=g &etzgl| 1,000
Al 1,000
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- 1,250
01 M=4l 2,500 2,500 0
Ot FA2+ 1,000
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01 M=4l 5,000 5,000
OgsSsIt MM 7 5,000
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03 SRH(RINAHA) 222+ 37,428 36,852 576
OX G atEA 37,428
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